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Fok  tEE4EA teEIEE ZEMR BERAAE HE
— B9—FHz%E4A
1 EEBk FvsHEHR EHh—F£HxEM E—1
2 Bk FvshE EP—EfxEM E—3
Z . Bl ZFERRER
1 Bk FvshER EHFZ. =ERKxEE BE=2
2 BBk AvshEHR EFZ, ZHEfKxEHE B2
3 Bk FvshEBHR EHPZ, =FERhxEl B 1
4 Bk AvshEH EHPZ, ZEHxEE BE=1
= BvBE—FHzE4A
1 &k AvshEHR STB—FHhxEE EE-2
2 Bk FvshEHR SPB—EHxEE B2
3 BBk HvsHEH BHRE—EREEHE BE—®
4 B FvshEHR SPB—EHxElE 22
5 BBk AvshEHR STB—FHxEHE B3
6 BTk fvshEHR STB—E8xEE =21
7 BBk AvshEHR STB—EHhxEE B2
8 Bk fvshEHR STB—ERxEE =5
9 BTk AvshEHR STB—EHhxEE =24
M- EhE - FHkiEf
1 &k AvshEHR STB_FHxEHE B3
2 Bk FvshEHR ESTB_ERx4EE EE-R
3 BBk AvshEHR STB_EHxEE =221
4 B FvshEHR STB_EHxEE E_R
5 BTk FvshEHR STEBIERTEE =222
A BB =EHaEA
1 &5k FAvsAEHR STB=ZEH&4EHE 522
2 BBk FAvsAEHR STB=ZEHRkt4EE Z=E
3 Bk FAvsAEHR STB=ZEHRT4EE E=R
4 BTk FAvsAEH STB=ZEHR/&EHE =1
5 BTk FAvsAEHR STB=ZEHT4EHE ==4
6 BBk FAvsAEH SPB=ZEHR/LEHE B=2
7 BTk FAvsAEHR STB=ZEHRT4EE E=R
N BRB—EHRELEE
1 &5k FvshEHR ESTEB—ERBE4EME 2 EE-R
2 BBk AvshEHR STB—EKBE4EHE T2
3 Bk FvshEHR ETEB—ERBEEME BB
4 BTk AvshEHR STB—ERKE4EHE 22
5 BTk FvshEHR STEB—ERBE4EME 2 B-—R
6 BBk AvshER STB—EHKELEE =3
7 BTk FvshEHR STEB—ERBEEHE =1
8 Bk AvshER STB—ERKBE4EHE =2
9 Bk FvsHEHR SHB—SHEEHE 55
10 &k AvshER STB—ERKBE4EHE =4
T BB HELEME
1 &k FvsBEH STB_EHRBELAHE H-R
2 BTk FvsHEHR SHB_SHEEHE 524
3 Bk FvsHEH SHB_SHE4HE 53
4 B Fvs HEHR SHB_SHEEHE 238
5 BBk FvsREH ShB_ERELHE EZ-R
6 EETk Fvs HEHR SHEB_SHEEHE BZ-R
7 BBk AvshER STB_EHKBE4EHE =21
8 Bk Fvs HEHR SHB_SHEEHE E-R
9 EEEk FvsHEH SHB_SHE4HE 522
10 &k Fvs HEHR SHB_SHEEME BZR
11 B AvshER STB_EHKBE4EHE 2 ==s
N EhEB=ERE4EE
1 &k FvsFEH SHB=4HBE4HE =2
2 BTk FAvsAEHR STB=ZEHRKBE4EHE T=R
3 Bk FvsAEH STB=ZERKBELEHE 5=2
4 B FAvsAEHR STB=ZEHRBE4EHE ==1
5 BTk FvsHEH SHB=HBE4HE B=2
6 EEEk FAvsAEHR STB=ZEHRBE4E H=2
7 BBk FAvsAEH STB=ZEHRKBELHE 5=3
8 EEIk FAvsAEHR STB=ZEHRBE4EHE S=s5
9 EEEk FvsHEH SHB=GHBE4HE B=
10 Bk FAvsAEHR STB=ZERBE4EHE ==4
11 ExK FvsHEH SHhB=HBE4HE ‘=2
12 B FAvsAEHR STB=ZEHRKBE4EHE E=ZR
13 &k FvsHEH SHB=HBE4HE E=R
N Bh—SHE4EME
BEBk AvsHEHR BPF—EHB4EM BE—2
Bk FvsHEHR BEh—FHEEME E—1
BE Bk AvsHEHR BPF—EHB4EM E—3
+ - B, ZFEHRBEM
Bk FvshEHR EHPZ. =ERKBEHE BE=2
BETR AvshEH EHPZ, ZEHRBEEHE B2
Bk FvshEHR EHPZ. =ERKBEEHE BE=1
Bk Avs.hEH EPZ, =ZE{KBEEHE BE=1



